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He brings, but does not read - N2 119K R%2AR

Overview'
"2 taught that we require T1XD 7X2M An°pP%, and if it is not TR the rule is X°an
X2 11°X1. Our MdOIN has some difficulty with this ruling.

nvoIn asks:
= (3,n 91 12127 NN 7992 1329INTI 1292 N1 99NN ON)

And if you will say; but let us say that the 0>31>°2 should rot, as ' 7K YR "

XVX says in the last P92 of nyon ndon -
- 013 ARYIPY PINTIT DIV 13D AN 1YY 93 NN BN D39193 WrI9h

‘He separated 29712°2 before the holiday of n1>10, and the holiday passed, they
should rot’, since initially these 0°713°2 were fit for ‘reading’ and were pushed

away. The x 1 there continues -
- 5573 190w Wa TANYIPY INTY 198U S KoM 513 Maaym NYra 19raY N PRY 59

For anything which is not fit for mixing, the lack of mixing prevents it from
being acceptable’, so, NMd01N asks, here too when he harvested them they were
fit for 78> and when he sent them with the m°5w they were pushed aside -

ND0IN answers:
- (n Na5N N PA9) D999 NODNT MMITVWIT 9NINRT 91210 Y
And one can say; that it says in "% 7120 on 297122 noo» -
= 4NN 2 1NHYY JVPITYD NIYYIN 229 DV WIPY WY 9NN YON 14

" See ‘Overview’ to the previous 1782 7"7 ‘o).

? The rule regarding 022 is that they should be brought from maw until M2 in which case he is XMPY x°an,
however after N1210 he is X71P 12°R1 X231 (see "W there 0°7122 17"7) and the lack of 7XAP is not 20¥n.

? These words 17711 121 2Wwn, do not appear in our N3, these seem to be Md2IN explanation, that even though if one
separates and brings the 011222 after N0 he is X XY X°2n however if he was ann *10% w91 so it was 81 for
7%p, and he wants to being it a7 K, where it is not IX*P? X871, in such a case of AnTN X1 we say that the R*™pP
is 20¥7 since it is T(N’WPY7 IR N

* The rule generally is that %77 is not N2y by 0 12°2, so why is there a problem that X117 WX; the X3 continues. ..

> The 770 writes regarding M that it needs to be w3 72172 (the flour is mixed with oil); however if one merely
added the oil without mixing it, the m1n is 2w3. This is referred to as 77°3% *W77 73 (if it can be mixed properly) X
12 n2oYH 7922 (it does not matter whether it was mixed or not). However if there is so much flour (more than sixty
WY in one °73) that it cannot be mixed properly, it is 77°2% X1 'K, the rule is that 12 n23yn 79°3, and the fnn is 7109.

% Even though that Ax"p is not 20v» by 2112°3, but since here it is not 78> "X (for we require TR XM AP?
and here it is not 71X>), the AX™p should be 2ovn, and just as there (when a7 27°%Y 72v) we say 12p7, since they
were 117711 113, here too since they were 117721 1871 the rule should be 12p7.

" He could have taken them to 0°>211 and be X1p1 X*2n.

¥ mooin is showing the similarity between the two cases that in both they were 7772 373, so just as there the rule is
127" the same should apply her by 77x2.
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R''2 said that ®''9 said in the name of X''~; when he gathered the produce for

o M>°2 with the intent to send them with someone else,’ only then can he send them
with a m°%w (an it will be X 1KY 8°2n) -
- 990N 93 BNYYS RY XID INYANY JUHY ON YaN

However if he gathered them with the intent that he will bring them to 2%u1,

he should not send them with someone else -
- ANYIPA NIN 199193 PN ANIDY NI 09991931 Yo

For all 2>m12%2 which were fit for x99 cannot be ‘permitted’ (to be eaten by
the 1712) only with 78D -

- Bn9y0 9998 oA 901w 99m Poonna wrean XY pavanm onn 135959
And the "n%v17 asks there; it seems that our 73w» argues with X", for the mawn

states; ‘he separated 257122 and sold his field, he brings but does not read’ —
- 1n3WNT NYUN 91V INYT INIYS 10D

The "n>w1° answers; we have established that 71wn that he intended to sell his

field from the first hour (before he harvested), therefore it was never X1 -
=127 XD NN NN INYANY NN HY NN ONP DN Y9N DN NT 29

So according to this (regarding the rule of X"7) if he separated 2°713%2 before
m>10 with the intention to bring them after n120 (so it was never 7X11), they are

not left to rot -
NP IIONY X2 NN NN NYN

Rather after n1210 he is X7 1398Y K2,

Summary
711232 which were fit to be X711 X°27n and then they were not fit to be X712, they

are left to rot; however if they were never fit to be XMp (either because he planned
to send them with a m>w, or he intended to bring them after M>10) the rule is X°2n
X2 17N,

Thinking it over

? In this case they were never 7X™p% "X, since he was intending to send them with a 1>w who cannot say nn1 wx
"9, See ‘Thinking it over’.

10 This means that the m*>w cannot even be X (even if he is not X7p).

" This is the case where X7 18371 0P, where he would be X11p.

21" "D D,

13 At that point it was 7X™MP% “X.

1 At this point it is not 7R*P X1 for he cannot say *? Nn1 WK 7RI [19], since he does not own the 17X (the field).

15 We see from that 73wn that even if it was RT3 7813, nevertheless one is XMP1 X°2n, not like 8" ruled.

'® The same is regarding the X713 here that s'71"2> ruling is in a case where initially when he harvested the 2>112°2, he
intended to send it with a %W, so it was never nX11. Therefore one may be Xp 1R1 X2,
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mooIn writes (from the "n?w17°) that if at time of the 7w°P% he intends to send it with
a 5w the rule is XMp 11X X2y, since it was never nx11.'” However previously'®
moon said that if the m5w brought it, the 2°9¥2 can be XM X°2an (and it is
considered TnX> 82 AMOPY), since MMD IR YW IMPw. Why therefore does the
Mo state that he is X1 X1, seemingly it was 771 812!

17 See footnote # 9.
'8 19x2 7"7 [TIE footnote # 5.
19 See mwn nvm.

3
TosfosInEnglish.com



